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Cuadro 12 (continuación 5)/Table 12 (continued 5)
Haití: tablas abreviadas de mortalidada

 Haiti: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.071 0.067  100 000  6 741  94 766 0.918 b 5 587 003 55.9
1 4 0.010 0.041  93 259  3 796  364 137 0.965 c 5 492 236 58.9
5 5 0.004 0.019  89 463  1 709  443 043 0.983 5 128 100 57.3

10 5 0.003 0.014  87 754  1 270  435 594 0.983 4 685 056 53.4
15 5 0.004 0.019  86 484  1 684  428 208 0.976 4 249 462 49.1
20 5 0.006 0.028  84 799  2 352  418 117 0.972 3 821 254 45.1
25 5 0.006 0.029  82 447  2 401  406 232 0.970 3 403 137 41.3
30 5 0.006 0.031  80 046  2 495  393 991 0.967 2 996 905 37.4
35 5 0.007 0.035  77 551  2 714  380 969 0.958 2 602 914 33.6
40 5 0.010 0.048  74 837  3 618  365 139 0.950 2 221 945 29.7
45 5 0.011 0.052  71 219  3 684  346 885 0.940 1 856 806 26.1
50 5 0.014 0.069  67 535  4 665  326 013 0.921 1 509 921 22.4
55 5 0.019 0.090  62 870  5 664  300 191 0.891 1 183 908 18.8
60 5 0.027 0.129  57 206  7 385  267 568 0.844  883 717 15.4
65 5 0.041 0.187  49 821  9 331  225 776 0.773  616 149 12.4
70 5 0.064 0.277  40 489  11 195  174 458 0.675  390 374 9.6
75 5 0.098 0.393  29 294  11 507  117 703 0.541  215 915 7.4
80 5 0.163 0.568  17 787  10 104  63 676 0.397  98 212 5.5
85 5 0.220 0.683  7 683  5 247  25 299 0.295  34 536 4.5
90 5 0.283 0.776  2 436  1 890  7 456 0.212  9 237 3.8
95 5 0.348 0.844   546   461  1 578 0.114 d  1 781 3.3

100 ω 0.418 1.000   85   85   203   203 2.4
Mujeres/Females

0 1 0.061 0.059  100 000  5 860  95 367 0.927 b 5 935 094 59.4
1 4 0.010 0.038  94 140  3 616  367 982 0.969 c 5 839 727 62.0
5 5 0.003 0.017  90 524  1 520  448 818 0.985 5 471 745 60.4

10 5 0.003 0.013  89 003  1 146  442 153 0.985 5 022 928 56.4
15 5 0.003 0.016  87 858  1 426  435 724 0.982 4 580 775 52.1
20 5 0.004 0.020  86 432  1 704  427 899 0.979 4 145 051 48.0
25 5 0.005 0.023  84 728  1 945  418 776 0.976 3 717 153 43.9
30 5 0.005 0.026  82 783  2 159  408 516 0.972 3 298 377 39.8
35 5 0.006 0.030  80 624  2 411  397 090 0.967 2 889 861 35.8
40 5 0.007 0.035  78 213  2 769  384 139 0.962 2 492 770 31.9
45 5 0.008 0.040  75 443  3 035  369 627 0.954 2 108 631 27.9
50 5 0.011 0.053  72 408  3 825  352 476 0.938 1 739 005 24.0
55 5 0.015 0.071  68 583  4 850  330 790 0.913 1 386 528 20.2
60 5 0.022 0.105  63 733  6 689  301 942 0.869 1 055 738 16.6
65 5 0.035 0.160  57 044  9 147  262 350 0.801  753 796 13.2
70 5 0.056 0.245  47 896  11 729  210 158 0.706  491 446 10.3
75 5 0.087 0.358  36 167  12 950  148 462 0.567  281 288 7.8
80 5 0.154 0.549  23 218  12 743  84 231 0.415  132 826 5.7
85 5 0.210 0.666  10 475  6 974  34 939 0.310  48 595 4.6
90 5 0.271 0.761  3 501  2 663  10 847 0.226  13 656 3.9
95 5 0.332 0.830   838   696  2 451 0.127 d  2 809 3.4

100 ω 0.398 1.000   142   142   358   358 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


